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Part I.  True-False Questions (1 point each).  Indicate on the answer sheet provided whether each of the following statements is true (T) or false (F).

1.
According to the production possibilities curve in Figure 1, the opportunity cost of food is greater at point D than it is at point E.

2.
Referring to the production possibilities curve in Figure 1, resources in the society are not specialized and they can freely move between the production of food and clothing.
3.
Referring the demand curve in Figure 2, between prices P1 and P2 demand is inelastic.
4.
Surplus drive competitive prices up; shortages drive competitive prices down.

5.
If demand and supply simultaneously increases, the equilibrium price will definitely increase, but the change in equilibrium quantity is indeterminate.

6.
Referring to the demand and supply diagram in Figure 3, if the government set a price floor of 0M, then a shortage of LG would result.

7.
Given demand, the more inelastic the supply of a product, the larger the portion of an excise tax which is borne by producers.

8.
Referring to the MP and AP product curves in Figure 4, MC begins to increase when B workers are hired.

9.
According to the MP and AP product curves in Figure 4, diminishing returns initially sets in when D workers are hired.

10.
If the price elasticity of demand equals 0.75, total revenue will increase if price falls.
11.
Referring to the five short-run cost curves shown in Figure 5, in the long run, the firm should use plant size #2 to produce output 0x.

12.
If every firm in a perfectly competitive, increasing-cost industry were incurring short-run losses, in the long run firms would exit, the market price will decrease, and input prices will fall.

13.
In the short-run, the profit-maximizing (or loss-minimizing) firm in Figure 6 should shut down and incur a loss equal to area acdf.
14.
Changes in business inventories are excluded from the definition of investment in the calculation of GDP.

15.
Like a competitive firm in the long run, the profit-maximizing monopoly shown in Figure 7 exhibits productive efficiency.

16.
A decrease in the price level shifts the supply curve for loanable funds to the right and the equilibrium nominal interest rate falls.

17.
The case for activist policy is strengthened if the economy’s self-correcting mechanism is longer than the lags in policy.

18.
If the economy is experiencing an inflationary gap, holding everything else constant, the self-correcting mechanism states that wages will fall and the short-run aggregate supply curve will shift to the right.

19.
If the Fed raises the required reserve ratio, the simple money multiplier becomes smaller.

20.
The equation of exchange predicts that a rise in the money supply will increase the price level if the velocity of money and real GDP are constant.
Part II.  Multiple Choice Questions (3 points each).  Indicate the best answer for each question on the answer sheet provided.

Table 1 lists the production possibilities curves for two countries, Country I and Country II.

	Table 1

	Country I Production Possibilities Curve
	
	Country II Production Possibilities Curve

	Product
	A
	B
	C
	D
	E
	
	Product
	A
	B
	C
	D
	E

	Pork (tons)
	80
	60
	40
	20
	0
	
	Pork (tons)
	40
	30
	20
	10
	0

	Beans (tons)
	0
	60
	120
	180
	240
	
	Beans (tons)
	0
	50
	100
	150
	200


1.
According to Table 1, the real cost of 1 ton of pork in Country II:

A.
is 
[image: image1.wmf]15

of a ton of beans.





D.
is 3 tons of beans.
B.
is 5 tons of beans.







E.
increases with the level of pork production.
C.
diminishes with the level of pork production.

2.
If the two countries in Table 1 specialized in accordance with the principle of comparative advantage:
A.
Country I will produce both beans and pork and Country II will produce neither.

B.
Country I will produce 80 tons of pork and Country II will produce 200 tons of beans.
C.
Country I will produce 240 tons of beans and Country II will produce 40 tons of pork.

D.
Country I will export beans while Country II will export pork.

E.
Both C and D.

3.
Referring to the data in Table 1, if each Country I and Country II specialized in their comparative advantages and engaged in free trade, which of the following would be feasible terms of trade?
A.
1 ton of beans for 4 tons of pork

D.
1 ton of pork for 4 tons of beans

B.
1 ton of pork for 6 tons of beans

E.
1 ton of pork for 1 ton of beans
C.
1 ton of pork for 2 tons of beans

4.
Referring to Figure 8, which of the following positions on curve PP1 would be most likely to result in a future production possibilities curve of PP3 rather than PP2?

A.
The bundle of goods at point A.

C.
The bundle of goods at point D.



B.
The bundle of goods at point B. 

D.
None of these answers.

5.
Referring to the production possibilities curves shown in Figure 8, which of the following statements is false?
A.
Given the production possibilities curve PP2, society could produce the bundle of goods at point D, but to do so would imply the inefficient use of resources.

B.
Given the production possibilities curve PP2, the bundle of goods at point F is unobtainable given current technology and resources.

C.
If the production possibilities curve shifts from curve PP2 to curve PP1, society welfare will increase.

D.
The concept of opportunity cost is best represented by the move from point B on curve PP1 to point C on curve PP1.

E.
The production possibilities curves in Figure 8 exhibit the law of increasing costs.

6.
Referring to Figure 8, which of the following would cause the production possibilities curve to shift from PP2 to PP3?
A.
A fall in the unemployment rate towards the natural rate.





D.
An increase in capital.

B.
A decrease in the supply of natural resources.







E.
Both A and D. 

C.
An improvement only in the technology used to produce consumer goods.

7.
A shift to the left in the supply curve for oil in the United States is most likely to result from:

A.
a decrease in the price which oil companies must pay for drilling licenses.

B.
an increase in the costs of exploration and drilling for oil.

C.
opening of new areas for oil exploration in the United States.

D.
a decrease in the world price of oil.

E.
an increase in the number of U.S. oil companies.

8.
Which of the following would best explain a decrease in both the price and the quantity of a product over a period of time?

A.
technological improvement in production methods
D.
a reduction in advertising spending on the product
B.
an increase in the price of a substitute good


E.
the government imposes a $1 per unit excise tax on producers
C.
a long strike by workers who make the product

9.
Which of the following will cause the demand curve for product A to shift to the left?
A.
Population growth which causes an expansion in the number of persons consuming good A

B.
An increase in income if good A is a normal good

C.
A decrease in the price of complementary good C

D.
An increase in income if good A is an inferior good

E.
An increase in the price of substitute good B
10.
In Figure 9, D is the initial market demand curve, S1 is the initial, before-tax, market supply curve and S2 is the market supply curve after imposing an excise tax on producers.  Referring to Figure 9, which of the following statements is (are) true?

A.
The excise tax is equal to line segment EF.

B.
The deadweight loss of the tax is equal to area FEI.

C.
The excise tax generates tax receipts equal to area BCEF.

D.
All of the above statements are true.

E.
None of the above statements are true.

11.
Which of the following statements about the price elasticity of demand is true?
A.
Along a linear, negatively sloped demand curve, the price elasticity of demand increases as price falls.

B.
Given a vertical demand curve, the price elasticity of demand is equal to infinity at every price.

C.
Given a horizontal demand curve, the price elasticity of demand is equal to zero for every output.

D.
Given an effective price ceiling, the resulting shortage is bigger the less elastic the demand.

E.
Along a linear, negatively sloped demand curve, total revenue is maximized when the price elasticity of demand equals 1.

12.
Suppose the supply curve of good X is perfectly elastic.  If there is an increase in demand for good X, then the equilibrium price:

A.
and quantity will both increase.







D.
will remain unchanged but equilibrium quantity will increase.
B.
will increase but equilibrium quantity will be unchanged.

E.
and quantity will both decrease.
C.
will increase but equilibrium quantity will decline.

13.
At the Amarillo Piano Company, the average product of labor equals 5, regardless of how much labor is used.  We can say that:

A.
labor exhibits diminishing marginal returns regardless of how many workers are hired.

B.
the firm’s production is a straight, positively sloped line coming from the origin with a slope equal to 5.

C.
there are no fixed costs.

D.
the marginal product of labor is 5 regardless of how many workers are hired.

E.
Both B and D.

14.
Figure 10 shows the demand and supply curves of a product before and after international trade.  According to Figure 10:

A.
consumer surplus before trade was equal to A and consumer surplus after trade is A + B.

B.
the gains from trade equals D.

C.
producer surplus before trade was equal to C + B + D and producer surplus after trade is equal to C.

D.
the country will import the product after free trade.

E.
All of the above statements are true. 

15.
Referring to the firm’s short-run cost curves shown in Figure 11, which of the following will happen if the government gives the firm a $1 per unit of subsidy?
A.
Curves 1, 2, 3, and 4 all shift down a vertical distance equal to $1.

B.
Curves 1, 2, and 3 all shift up a vertical distance equal to $1, but curve 4 is unaffected.

C.
Both curves 2 and 4 shift up a vertical distance equal to $1, but curves 1 and 3 are unaffected.

D.
Both curves 2 and 4 shift down a vertical distance equal to $1, but curves 1 and 3 are unaffected.

E.
Curves 1, 2, and 3 all shift down a vertical distance equal to $1, but curve 4 is unaffected.

16.
The price elasticity of demand for a product is likely to be greater:

A.
the smaller the number of substitute products available.

B.
the smaller the proportion of one’s income spent on the product.
C.
the greater the amount of time which buyers adjust to a price change.

D.
if the product is a “necessity,” rather than a “luxury” good.

E.
None of the above.
17.
Referring to the firm’s long-run average cost curve shown in Figure 12, at point C:

A.
the firm is experiencing economies of scale and it is using its current plant size over capacity.

B.
the firm is experiencing economies of scale and it is using its current plant size under capacity.

C.
the firm is experiencing diseconomies of scale and it is using its current plant size over capacity.

D.
the firm is experiencing diseconomies of scale and it is using its current plant size under capacity.

E.
the firm is experiencing diseconomies of scale and it is located at the minimum point of the firm’s current short-run ATC curve.

18.
A firm’s long-run average cost curve:

A.
connects the minimum points of all the short-run average total cost curves.

B.
indicates the lowest-cost plant size for a given output.

C.
connects the minimum points of all the short-run marginal cost curves.

D.
connects the maximum points of all the short-run average total cost curves.

E.
connects the minimum points on the short-run total cost curves.

19.
According to the short-run total cost curve shown in Figure 13:

A.
average total cost is greater at Q1 than it is at Q2.

B.
the marginal cost at Q2 equals the slope of line 0B.

C.
the average total cost at Q2 equals the slope of line 0B.

D.
All of the above.

E.
Only A and C.

20.
Refer to Figure 14.  If the government sets a price ceiling equal to P1:

A.
the price ceiling is not binding, the equilibrium price is still P2, and the equilibrium output remains Q2.

B.
cause a deadweight social loss equal to C + E.

C.
then producer surplus falls from F + D + E to D + F.

D.
then consumers will be better off if C is greater than D.
E.
then consumer surplus increases by D + E.

21.
Referring to the perfectly competitive firm shown in Figure 15, the firm will realize a short-run economic profit if price is:

A.
P1.

B.
P2.

C.
P3.

D.
P4.

22.
Referring to the perfectly competitive firm shown in Figure 15, the firm will produce at a loss if price is:

A.
P1.

B.
P2.

C.
P3.

D.
P4.

23.
Referring to the perfectly competitive firm shown in Figure 15, the firm will break even if the product price is:

A.
P1.

B.
P2.

C.
P3.

D.
P4.

24.
Which of the following would contribute most to a firm experiencing “economies of scale”?

A.
The law of diminishing marginal returns.




B.
Rising long-run average costs.

C.
Deterioration of information and control within a firm.

D.
Increased specialization of production within a firm as plant size increases.

E.
Both B and C.
25.
Assume a perfectly competitive, constant-cost industry is initially in long-run equilibrium and that an increase in consumer demand occurs.  In the long run, after all the economic adjustments have occurred, the market price will be:

A.
the same as it was initially, but market output will be greater than originally.

B.
higher than the initial market price and market output will be greater than originally.

C.
lower than the initial market price and market output will be greater than originally.

D.
the same as it was initially, but market output will be less than originally.

E.
the same as it was initially and market output will be equal to the original output.

26.
Figure 16 shows a perfectly competitive, increasing-cost industry in short-run equilibrium where curve AC is the short-run average total cost curve.  Which of the following will happen in the long run?

A.
Firms will exit the industry, curve S will shift to the left, and curves MC and AC will both shift down.

B.
Curve D will shift to the right and both P and Q will increase.

C.
Curve D will shift to the left and both P and Q will decrease.

D.
Firms will enter the industry, curve S will shift to the right, and curves MC and AC will both shift up.

E.
Firms will enter the industry, curve S will shift to the right, but curves MC and AC will not shift.
27.
Monopolists are said to be inefficient because:

A.
they produce where MR > MC.

B.
at the profit-maximizing output, price is greater than AVC.

C.
their profit-maximizing outputs doesn’t necessarily minimize their average total costs.

D.
at the profit-maximizing output the marginal benefit to society of additional output is greater than the marginal cost to society.

E.
Both C and D.

28.
In the short-run, the profit-maximizing (or loss-minimizing) monopolist in Figure 17 will:
A.
shut down in the short run and incur a loss equal to area BADE.

B.
shut down in the short run and incur a loss equal to area CADF.

C.
produce output 0Q and earn economic profits equal to area BADE.

D.
produce output 0Q and incur a loss equal to area CADF.

E.
produce output 0Q and incur a loss equal to area BADE.
29.
An Oregon freight company buys a new truck made in Utah by a Japanese company.  As a result:

A.
U.S. consumption and GDP increase, but Japanese GDP is unaffected.

B.
U.S. investment and GDP increase, but Japanese GDP is unaffected.

C.
U.S. investment and Japanese GDP increase, but U.S. GDP s unaffected.

D.
U.S. investment, US. GDP and Japanese GDP are unaffected, because the truck would be an intermediate good.

E.
U.S. investment, U.S. GDP, and Japanese GDP is unaffected.

30.
Figure 18 shows the market demand curve and the marginal revenue function of a pure monopolist.  Based on Figure 18, which of the following statements is not correct?

A.
At output 0T, demand is inelastic and marginal revenue is negative.

B.
If the monopolist only had fixed costs, its short-run profit-maximizing price would be 0Q and its short-run profit-maximizing output would be 0S.

C.
Demand is unitary elastic at point V.
D.
Area 0QVS is greater than area 0RWT.
E.
The price elasticity of demand is greater at point W than it is at point U.

31.
Everything else held constant, a simultaneous decrease in government spending on goods and services and an increase in taxes causes:

A.
the demand for loanable funds to shift to the right and the nominal interest rate will increase.

B.
the demand for loanable funds to shift to the left and the nominal interest rate will decrease.

C.
the supply of loanable funds to shift to the right and the nominal interest rate will decrease.

D.
the supply of loanable funds to shift to the left and the nominal interest rate will increase.

32.
Structural unemployment is the result of:

A.
technological change or foreign competition.


C.
a slowdown in the rate of economic expansion.
B.
normal labor market turnover.





D.
irresponsible workers with poor work habits.

33.
Some people are counted as out of the labor force because they make no serious effort to look for work.  However, some of these people may want to work even though they are too discouraged to make a serious effort to look for work.  If these discouraged workers were counted as unemployed instead of out of the labor force:

A.
both the unemployment rate and the labor-force participation rate would be higher.

B.
the unemployment rate would be higher and the labor-force participation rate would be lower.

C.
the unemployment rate would be lower and the labor-force participation rate would be higher.

D.
the unemployment rate would be the same, but the labor-force participation rate would be higher.

E.
None of the above.

34.
Which change in the price index shows the greatest rate of inflation: 80 to 96, 100 to 116, or 150 to 166?
A.
80 to 96


C.
150 to 166
B.
100 to 116

D.
All changes show the same rate of inflation.

35.
Holding everything else constant, an increase in the nominal interest rate will cause:

A.
bond prices to increase, making households feel wealthier and increasing consumption.

B.
the net present value of marginal projects to increase, resulting in an increase in investment.

C.
U.S. bonds to become more attractive, the demand for dollars increases, the exchange rate increases, and net exports falls.

D.
All of the above.

E.
None of the above.

36.
In the long run, the economy adjusts to a temporary decrease in the short-run aggregate supply curve with:

A.
an increase in aggregate demand.


D.
an increase in short-run aggregate supply.

B.
a decrease in aggregate demand.


E.
a decrease in short-run aggregate supply. 

C.
an increase in long-run aggregate supply.

37.
Monetarist contend that a policy of shifting the aggregate demand curve will be costly because it produces more volatility in both the price level and output.  Thus monetarists favor:

A.
activist, demand-side policy.

B.
discretionary fiscal policy to fine-tune the economy.

C.
a constant-money-growth-rate rule.

D.
All of the above.

E.
None of the above.

38.
Which of the following would cause the short-run aggregate supply curve to shift to the left?

A.
A decrease in the price level.

B.
A loose labor market.

C.
An increase in the price of crude oil.

D.
All of the above.

E.
None of the above.

39.
Which of the following would cause the aggregate demand curve to shift to the right?

A.
A decrease in the price level.

B.
A decrease in future expected prices.

C.
A decrease in future expected profits.

D.
A decrease in the GDP of a foreign trading partner.

E.
None of the above.

40.
In the long-run macroeconomic model, if there is a simultaneous decrease in government spending on goods and services and an increase in taxes, then:
A.
the aggregate demand curve will shift the right, causing an increase in both the price level and real GDP.

B.
the aggregate demand curve will shift to the left, causing a decrease in both the price level and real GDP.

C.
the long-run aggregate supply curve to shift to the left, causing an increase in the price level and a decrease in real GDP.

D.
the aggregate demand curve will shift to the left, causing the price level to fall; but real GDP will remain constant at the full-employment level.
E.
the aggregate demand curve will shift to the right, causing the price level to increase; but real GDP will remain constant at the full-employment level.
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Answer Sheet and Short Answer Questions -- Final Exam - - Exam Booklet #______

PART I. TRUE (T) or FALSE (F)


PART II. MULTIPLE CHOICE

--------------------------------------------

-------------------------------------------------------------

1. T______
11. T______


1. B ______
11. E ______
21. D ______
31. B ______
2. F ______
12. T ______


2. B ______
12. D ______
22. B ______
32. A ______

3. F ______
13. F ______


3. D ______
13. E ______
23. C ______
33. A ______

4. F ______
14. F ______


4. A ______
14. B ______
24. D ______
34. A ______

5. F ______
15. T ______


5. C ______
15. E ______
25. A ______
35. C ______

6. F ______
16. T ______


6. D ______
16. C ______
26. D ______
36. D ______

7. T ______
17. T ______


7. B ______
17. C ______
27. E ______
37. C ______

8. T ______
18. F ______


8. D ______
18. B ______
28. E ______
38. C ______

9. F ______
19. T ______


9. D ______
19. D ______
29. B ______
39. E ______

10. T _____
20. T ______


10. E _____
20. B ______
30. E ______
40. D ______

Part III. Short Answer Questions (60 points).  Give a complete, but concise answer for each of the following questions.  Answer each question with complete sentences.  Use math, graphs, or equations to help explain each answer.  If you require more space, write on the back, indicating that you have done so and clearly labeling each answer.
1.
Suppose the U.S. is a price taker in the world crude oil market and imports crude at the world price.  Using a demand and supply diagram, compare and contrast the effects of two policies: imposing a $5 per barrel tariff on only imported oil or imposing a $5 per barrel excise tax on all oil regardless where it is produced.  (10 points)
2.
Assume a constant-cost, perfectly competitive industry produces good X.  Also assume that goods X and Y are complements.  Using two graphs, one showing the market demand and supply curves of good X and the other showing the average cost curves of the typical firm, illustrate and describe how a decrease in the price of good Y affects the industry and the typical firm, both in the short and long run.  (10 points)
3.
Assume a profit-maximizing monopolist is earning economic profits in the short run.  Illustrate and explain what happens to the monopolist’s price and output if the government imposes a flat, lump-sum tax that equals the firm’s current economic profits.  What will the firm do in the short run and in the long run?  (10 points)
4.
Using the four-quadrant, long-run macroeconomic model discussed in class, illustrate and describe the effect of an increase in human capital.  What happens to real GDP, the price level, the real wage, and employment?  (10 points)
5.
Assume the economy is at full employment.  Using the aggregate demand-aggregate-supply model, illustrate and explain the short-run effects of an increase in stock prices.  Using your graph, illustrate and explain how the self-correcting mechanism will return the economy to full-employment output in the long-run.  Given the short-run increase in stock prices, illustrate and explain how fiscal and monetary policy be used to return the economy to full employment.  (10 points)
6.
Assume the economy is at long-run, full-employment equilibrium and consumer confidence declines.  Using the AD-SRAS-LRAS model, argue for and against using activist, demand-side policy to return the economy back to full-employment.  Illustrate and explain your arguments.  (10 points) 
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